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There are other ways to solve
Systems of Equations!

EIiminatioK

Elimination is when you "eliminate" one of the variables.
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Elimination by Addition
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Elimination by Addition

. 2x+2y=7 ()
Consider the system 1X-2y=5 (3
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Elimination by Addition
Consider the system
X(-2y =95
T xr2y=7
%

Lets add both equations
to each other
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Elimination by Addition
x+3y=14
X +4y =7 Who would you eliminate??
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Elimination by Subtraction
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-3x -5y = 10
-3x -7y =14
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Elimination by Multiplication
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Solve thef Ilowmg System of Equations
-3+ 2= -3¢ )
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Try these:

ox + 11y =-5
6x + 9y =-3

X+2y=6
3x + 3y =-6
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6x + 11y =-5 (0
g Bx+9y=-3 B
(QX+()8,=’5@
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X+2y=6 ()
3x + 3y =-6 (9
Ox-3 ~3X ~by=-/8 ©
3X+3ﬂ_=~6 @ \
O+ - 34= - QO’ ®
_30‘-1w =?

X+Q :6
X+(€) =6

X — G-l6

X = -0

Sub in @
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1.
X-2y\=95 Lets add both equations
+ 2x =7 to each other
3x =12
solve for x

ANS: (4, y)
x=4

Now solve fory (HOW??7?)
- sub the value of x into one of the equations and solve for y

X-2y=35
4-2y=95
-2y =1

y=-1

2

intersection point (4, - 0.5)
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2.
6x + 11y =-5
-6x - 9y = +3
2y = -2
y=-1
solve for x
ox + 11y =-5
6x + 11(-1) =-5
6x-11=-5
ox =-5+ 11
6X =6
x=1

Careful you are subtraction all of the second
(switch all signs on t second equation)

Intersection (1, -1)

June 03, 2016
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Consider the system

3x +6y =18 Now subtract the equations
-3x - 3y = +6
3y =24
y =38

Sub into equation 1 (original) or the above

X+2y=06
X+2(8)=6
X+16 =6
X =6-16
x =-10

(-10, 6)
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